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(d) What do you mean by the term
‘Natura-Naturata’?

‘Natura-Naturata’ e & 3@ 2

(e) In what sense monads are called
‘windowless’? Explain.
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3. Answer any four of the following : 5x4=20
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(a) State the four rules laid down by Descartes as
part of his method of philosophizing with a

brief explanation. 4+1=5
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(b) What is the nature of Descartes’ doubt?
Distinguish it from psychological doubt. 1+4=5
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(c) What are the two independent substances
according to Descartes? Why there cannot be
areal relation between the two? What are the
two analogies used by Descartes to explain
the relation between them? 1+2+2=5
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Explain Spinoza’s statement that ‘every
determination is a negation’? 5

‘Every determination is a negation’
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What is the meaning of causa suias applied to
God in Spinoza’s philosophical system? Why
did Spinoza denied the concept of a ‘creator
God’? 3+2=5
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Write a short note on the different categories
of monad as laid down by Leibniz. Why is
God called the ‘actus purus’? 3+2=5
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